Visvesvaraya Technological University



"Jnana Sangama" Belagavi – 590 018 Karnataka State, India.

VTU-CONSORTIUM FOR E-RESOURCES TO LIBRARIES

License Copy

College Name: Sri Sairam College of Engineering, Bengaluru-562106

License No.: SB-B90

This is certifying that, Sri Sairam College of Engineering, Bengaluru is the member of VTU-Consortium and this institution is licensed to access the following e-Resources for the year 2020-21.

| Sl. No. | e-Resources | | | |
|---------|---|--|--|--|
| 1. | Elsevier -Science Direct e-Journals | | | |
| 2. | Springer Nature e-Journals | | | |
| 3. | Taylor and Francis e-Journals | | | |
| 4. | Emerald (Management) e-Journals. | | | |
| 5. | Net Analytiks (Sententia-tool) | | | |
| 6. | K-Nimbus (Digital Library Platform and Remote Access Solution) | | | |
| 7. | Turnitin (Similarity check tool) | | | |

Note: The Librarian of Sri Sairam College of Engineering, Bengaluru shall report the undersigned regarding any issues encountered in accessing the above e-Resources. If no issues are reported back, it will be deemed that there are no issues and the institution is accessing all the above resources without any interruptions. However, for further assistance with regard to accessing the databases, the representatives of the respective publishers shall be contacted through a mail with a copy to the coordinator, VTU Consortium.

Co- Ordinator

Registrar



Visvesvaraya Technological University

"Jnana Sangama" Belagavi – 590 018 Karnataka State, India.

VTU-CONSORTIUM FOR E-RESOURCES TO LIBRARIES

License Copy

College Name: Sri Sairam College of Engineering, Bengaluru-562106

License No.: SB-B90

This is certifying that, Sri Sairam College of Engineering, Bengaluru is the member of VTU-Consortium and this institution is licensed to access the following e-Resources for the year 2021-22.

| Sl. No. | e-Resources | | | |
|---------|---|--|--|--|
| 1. | Elsevier -Science Direct e-Journals | | | |
| 2. | EEE -Proceedings Order Plan (POP) | | | |
| 3. | oringer Nature e-Journals | | | |
| 4. | Taylor and Francis e-Journals | | | |
| 5. | Emerald (Management) e-Journals. | | | |
| 6. | Proquest- e-Journals. | | | |
| 7. | K-Nimbus (Digital Library Platform and Remote Access Solution) | | | |
| 8. | Net Analytiks (Lanquill online language lab tool) | | | |
| 9. | Turnitin (Similarity check tool) | | | |

Note: The Librarian of Sri Sairam College of Engineering, Bengaluru shall report the undersigned regarding any issues encountered in accessing the above e-Resources. If no issues are reported back, it will be deemed that there are no issues and the institution is accessing all the above resources without any interruptions. However, for further assistance with regard to accessing the databases, the representatives of the respective publishers shall be contacted through a mail with a copy to the coordinator, VTU Consortium.

Co-Ordinator

LAGAVI 30 018 Registrar

09/10/2021



Accredited by NAAC & IE(I) | An ISO 9001:2015 Certified Institution Approved by AICTE, New Delhi & Affiliated to Visvesvaraya Technological University, Belgaum (Managed by Sapthagiri Educational & Charitable Trust, Bengaluru - 11) Sai Leo Nagar, Anekal, Bengaluru - 562 106. Tel : +91 - 80 - 2783 0221 / 2784 0631 www.sairamce.edu.in



19.03.2021

SSCE/VTU/e-consortium/2020-21/01/002

To

The Registrar Visvesvaraya Technological University "Inana Sangama" Campus Santis Bastawad Road Machhe, Belgaum - 590 018.

Sir,

Sub:- Annual Membership Fee Payment - VTU e-consortium 2020-21 -reg. Ref:- VTU circular no.VTU/BGM/LIB/Consortium/2020-21/6257 dt. 22nd February 2021-reg

Please find enclosed herewith NEFT details for payment of Rs.100000/-(rupees one lakh only) towards annual membership fee -VTU e-consortium for the year 2020-21, made through Canara Bank, Anekal Branch, Bengaluru. Please note the NEFT number P077210097973921dt. 17.03.2021. Please acknowledge the payment.

We would like to state at this juncture that, we have already paid 2nd, 3rd, & 4th year students VTU e-consortium fee of Rs.4,83750/- (rupees four lakhs eighty three thousand seven hundred fifty only) along with students other fees, through NEFT transaction number SYNBR52020121055339130 dt. 10.12.2020. 1st Year students fee will be paid shortly.

Thanking you,



Enclosures: NEFT form & Annual Membership form.

Yours faithfull

PRINCIPAL Sri Salram College of Engineering

Sal Leo Magay Guddarahalli Post,

Anexas, Sunganus - SUZ 106

Administrative Office: # 291/A, First Floor, Tripura Sundari Nikethan, 34th Cross, 9th Main Road, 4th Block Jayanagar, Bengaluru - 560 011.

| | | A . | | | |
|--|-----------------------------------|--|--|---------------------------|---------------|
| ज्ञारा वैक 🕰 Canara Bank | | Appli | cation for Nation | nal Electronic Fund | Transfer/ |
| | | | Time Cross Sett | | |
| 0, | | | : 17/03/2021 | · | |
| The Branch Manager | | | - | . | |
| Anekal Branch | | | NO: AACTS0033 | December 1 | |
| | | . 710 be | provided by Canara | Bank Customer | |
| Dear Sir. Ilease regali Through NEFT/RTGS a | sum of Rs. 1.00.000/- (Rupees | in words One Lakh o | nly) | | |
| s per details give below: | sum of Ks,1,00,000/(Kupees | III WOIQS ONE LAKII O | , | | |
| Cash Cheque | Debit my/our account | | | | |
| in case of cash please fill in the pa | | | | 47.5 | |
| To be filled by the Applicant in Ca | | 1. | | | |
| | DETAILS OF A | APPLICANT (REMITTER) | | | |
| Account Number | 0 4 3 7 3 0 | 7 0 0 0 3 | 4 2 6 | | |
| The Allerthan Change Date | | | | 12 O CAL | KA |
| Cheque Number Cheque Date | 0 5 7 3 4 9 | | 1 7 0 3 | 2 0 10A | The same of |
| Remitter's Name | : SRI SAIRAM COLLEGE OF E | NGINEERING | | 15/00 | 12/2 |
| Add s | : SAI LEO NAGAR, GUDDANA | | | 1.0 | A 12/2 |
| | ANEKAL, BANGALORE - 56 | | | 12/ (2 | 10 |
| Mobile / Other Number | : 9900545101/8050067104 | | | 1 131 | 138 |
| | DETAIL | S OF BENEFICIARY | | IXENE | AL SU |
| Beneficiary's Name | : Visvesvaraya Technol | ogical University | -40 | 110097977 | 5921 |
| Account Number | :54003362309 | a de la companya de l | POA4 | | |
| Reconfirm Account Number | : 54003362309 | | . 10 | | |
| Dank Name | : State Bank of India_V | /TU Campus, Mac | hche, Belagavi 5 | 90 018. | · Jane : |
| | : SBIN0040649. | | , | · 47. | |
| IF3C Code(11 Digit) | : VTU Campus, Machel | ho Bolagavi 500 (| 118 | | |
| Branch | | ile, belagavi 330 C | 710. | 1.00 | |
| Sender to Receiver Information (if | | 300 to 200 that | | | |
| | | s and Conditions | | | |
| *This transfer is valid for a single t *The fund transfer will be governe | ransaction | riven on our website v | www.Canarabank.co | mi | |
| *Due Care is taken while filling up | the beneficiary account number | & IFSC Code | | - | |
| *Transfer of an amount up to Rs.4 | 9.999 in cash permissible using t | this facility | | and the second | |
| * Photo (i) Proof to be given by no | on customer for cash payment ab | oove | | 4.5 | |
| *Please do not disclose your accou | unt details/ Internet Banking, Us | er ID and Passwords/ | ATM Debit Card / Cr | edit Card/ Mobile Ean | king/ |
| Personal information to any pers | son / | 4 | *** | | |
| * Doot fall prey to false promise | | | | | |
| 4.4 | | DECLARATION | · \. | | |
| * I/we authorize Canara Bank to re | ecover charges as may be applica- | able by debiting my ac | count as mentioned | l above. | only on the |
| *I/we understand that as per the basis of the account number of th | RBI Circular dated October 14, 20 | old transfer of funds | Name will not be co | onsidered as a criteria | for providing |
| | e beneficiary provided wille int | lating the transaction. | . Hame will not be o | | |
| *In understand that this facility is | available only at select location | and banks covered un | der Electronic Funds | s Transfer facility offer | red by RBI |
| In understand that this racincy is | available only assessment | | | | |
| | CUSTO | OMER SIGNATURE(S) | | | |
| 4 0 | | | 1.4 | 24. 1 | |
| hodales ey 2/202 | 1 | | | | |
| Name 17 03 120 | Name | | | Name . | * ** |
| (Primary Applicant) | (Joint Appli | icant 1) | | (JointApplie nt?) | |
| | | | | | |
| | Customer Acknowledge | ment | | Bank | Seal |
| Date: 17/03/2021. | | | | | |
| We acknowledge receipt of | NEFT/RTGS Instruction(s) | Reference.no | | | |
| Branch: Name and Signatur | e of Bank Official. | | | | 1 |
| | | | 18 18 18 18 18 18 18 18 18 18 18 18 18 1 | with da 18. time | e or request |
| | | 4 * | | | 1 . |

.



Accredited by NAAC
ISO 9001:2015 Certified Institution
Approved by AICTE, New Delhi
Affiliated to Visvesvaraya Technological University
www.sairamce.edu.in

VTU - Fee - Details - A. Y. 2020-21

1st YEAR REGISTRATION & OTHER FEES DETAILS

| S.No | Particulars | 1 St Year | |
|------|--------------------------------|----------------------|-------------|
| 1 | Registration Fee | 141*3,000/- | 4,23,000/- |
| 2 | e- learning Fee | 203*2,000/- | 4,06,000/- |
| 3 | Eligibility Fee | - | - |
| | Karnataka | 137*1,000/- | 1,37,000/- |
| | Non Karnataka/SAARC Country | 66*2,500/- | 1,65,000/- |
| | Foreign National/PIO/NRI | | / |
| 4 | e-consortium Fee | 203*750/- | 1,52,250/- |
| 5 | Sports Fee | 203*100/- | 20,300/- |
| 6 | Sports Development Fee | 203*150/- | 30,450/- |
| 7 | Career Guidance & Service Fund | 203*20/- | 4060/- |
| 8 | University Development Fund | 203*500/- | 1,01,500/- |
| 9 | Cultural Activities Fee | 203*50/- | 10,150/- |
| 10 | Women Cell Fee# | 203*5/- | 1015/- |
| | Total Fee | | 14,50,725/- |

2nd YEAR REGISTRATION & OTHER FEES DETAILS

| S.No | Particulars | 1 St Year | |
|------|--------------------------------|----------------------|----------|
| 1 | Registration Fee | 8*3,000/- | 24,000/- |
| 2 | e- learning Fee | 9*1,500/- | 13,500/- |
| 3 | Eligibility Fee | - | - |
| | Karnataka | 8*1,000/- | 8000/- |
| | Non Karnataka/SAARC Country | 1*2,500/- | 2500/- |
| | Foreign National/PIO/NRt | | - / |
| 4 | e-consortium Fee | 9*750/- | 6750/- |
| 5 | Sports Fee | 9*100/- | 900/- |
| 6 | Sports Development Fee | 9*150/- | 1350/- |
| 7 | Career Guidance & Service Fund | 9*20/- | 180/- |
| 8 | University Development Fund | 9*500/- | 4500/- |
| 9 | Cultural Activities Fee | 9*50/- | 450/- |
| 10 | Women Cell Fee# | 9*5/- | 45/- |
| | Total Fee | | 62,175/- |

madelly 25/02/2021

Sri Salram College Or Engineering Sal Leo Nagar, Guddanahaiii Post, Anskal, Bengaluru - 562 106

चेड डिवम विकास

e - sydel 263.

62 (tru Registrades 1/2)

5,200

RTGS / NEFT APPLICATION FORMS

bath us: Syndicate Bank Branch : Anekal Date: 10.12.2020. Customer: Sri Sairam College of Engineering ecount Number : 04373070003426. Cheque No : 694484, Date: 10.12.2020. Amount Remitted : 10,15,875/-(Rs. Ten Lakh Fifteen Thousand Eight Hundred and Seventy Five Only) L'au l'univer : AACTS0033M Name of the Beneficiary : Finance Officer, VTU, Belagavi. 51122 52020. 1210553339130 10 12020. () Name of Branch : State Bank of India, VTU Campus, Machche, Belagavi 590 018. IFSC Code of The Beneficiary Branch: SBIN0040649. Account Number of the Beneficiary : 54003362309 E Mail Address: principal@sairamce.edu.in, contact@sairamce.edu.in Mcbil No: 9090545101 / 103 Principal(Account holder signature) Sri Sairam College of Engineering, Sai Leo Nagar, Samandur(P), Anekal(T), Bangalore - 562106. न्यूपेट, आनेकल - 562 106 सिंडिकेटबैंक NEWPET, ANEKAL - 562 106 **SyndicateBank** (CBS) IFSC: SYNB0000437 ANEKAL- 10437 YOUR SELF RTGS या धारक को or Bearer Ten Lakh Fifteen Thousand Eight Hundred Seventy Five Only रुपये Rupees

अदा करें

**10,15,875.00

Alc. No.

№04373070003426°

for Sri Sairam College of Engineering

PRINCIPAL

Please sign above



SAIRAM COLLEGE OF ENGINEERING

(An ISO 9001:2015 Certified Institution) Formerly SHIRDI SAI ENGINEERING COLLEGE

Managed by Sapthagiri Educational & Charitable Trust ·





SSCE/Un: Fees/2020-21/00 L

10.12.2020

The Registrar

Visvesvaraya Technological University "Jnana Cangama" Campus Santisbactawad Road Machhe, Belagavi – 590018

Sir

Sub: B.E. - Higher Semester Students Strength, University other Fees Payment For the Academic year 2020-21 - Submission - Reg.

Ref: VTU/BGM/OS-Aca/2020-21/3457 dated 04.11.2020.

With reference to the above subject, please find enclosed herewith B.E. 2nd, 3rd & 4th Year students strength & University Other Fees statement for your reference and perusal.

BE Student Strength - II year - 248

III year - 173

IV year - 224

Total - 645 Students

| Sl. No. | Particulars | II, III & IV Year | Amount (Rs.) | Remarks |
|---------|--------------------------------|-------------------|--------------|---------|
| 1. | E-consortium Fee | 645 x 750 | , 483750 | |
| 2. | Sports Fee | 645 x 100 | 64500 | |
| 3. | Sports Development Fee | 645 x 150 | 96750 | |
| 4. | Career Guidance & Service Fund | 645 x 20 | 12900 | |
| 5 | University Development Fund | 645 x 500 | 322500 | |
| 6. | Cultural Activities Fee | 645 x 50 | 32250 | |
| 7. | Women Cell Fee | 645 x 5 | 3225 | |
| 74 | TOTAL | 645 x 1575 | 10,15,875 | |

B.E. Regular - II, III & IV Year = $645 \times Rs. 1575 = Rs. 10,15,875/-$

The prescribed fees towards University other Fees of Rs. 10,15,875/- (Ten Lakh Fifteen Thousand Eight Hundred Seventy Five Only) duly remitted through RTGS to VTU Account on 10.12.2020 Transaction No. SYNBR52020121055339130 is enclosed herewith for your reference.

Thanking You

Yours faithfully

PRINCIPAL

Sri Sairam College of Engineering

Sai Leo Nagar, Guddanahalli Post,

Anekai, Bengaluru - 562 106
Sairam



